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(b) (PO)-R))/ (2f(x)-1)

(&) 1/6

(d) Y=X-1

(&) Log((1+6)/2)
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(&) & continumons but not differentiable
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. (b)) Kz) = az for some real number a
. (@) 0o

(O [P0 9(0) W) L s a b ¢f

(v) 0

. (&) ¢

(@) (m+1)~-1
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(h)

(b) 4

(a) U decreases on tihe inferval [2-373/2, 2+3-1/2]
() 18

ME-Il (Only selected problems)

1.

(O lessy than 1

(W) Y*=(co-toca+l+G)/ (1 -ca(1 -t1))

(UL mudtiplier=1/(1 -c41(1 -t))

(O comw/(1+6); ea= (w(21+r)8)/(1+5);

(W) As r inereases co stays the same and ¢ Uncireases.
(W) (1+1)8=1

(9
9
8
7
6
5
4
5 AN
, AN
) AN
0 A\
0 5 10 15

(W) Show that: min2oxs,Xxa+Xxz) = XM 2xs,xa+xz) for «>O (lIty easy)
(W) C=Q

(D) Entire Edgeworth Box

(i) 45° Line from top Leftto- bottom right in an edgeworthe box withv
price rotio- equal to- 1.

(Ud) Yes, perfectly competitive outcomes are pareto optimals Nos, U does
not hold generally un all economies:

(O p=R20+a)/4; 91 =(20 — a)/4 ; 90 = (3a — 20)/4

(WD pr=75;81=25;p2=(a+5)/2;92=(a—5)/2

(WD) Just compare the profity
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(W) C5(0) = 2{((20 - a)/4) + ((3a — 20)/4)*}

CS(W) = 2{6.25 + (& — 5)/2)?}

(O 92 = (220-92-95)/2

(W) 91 = 92 = 95 = 30

(UD) Case: Furm 2 and 3 merge

91 = 9o + 95 = 40, Fum 1 & better off and 2 & 3 are worse off:

Case: AW Hree flrmys merge

AW tHree flrms are better off:

Do~ yourself

(O (2+a)y; — T 2 2y; for j €{H,L}

(W) High ability person go-to- college for T £ 100

Low ability person go-to- college for T < 80.

(L) Botiv gl ability and low- ability personw will attain education.
(W) Assming twition pald by H-type s 100 and L-type s 80. Total
subsidy s (100-60) X 5 + (80-60) X 5 = 300

x solves the equation wiere total tax receipts equal subsioy.
5(x/100)(150+110) = 300

x=23.08%

Do~ youwrself

(O Lowest marks for wihich Ut should admit the furst applicant = 50
(W) Lowest marky for wirich Ut shhovdd admit tive first applicant = 62.5
Lowest marks for wirich U shouwld admit the second applicant = 50
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